ERPMEBELSERR (RF7F6 ARMEELR O\ FANIERE
1 ZEBWEERR
5A (FERIHAL) N (FEEERIHALE) R
Ty A& 3E| 156 E| 4B 2 6%
ASBB |peaul 40 A s 18T Al 3l -i.6%
5 1= [F¥ 0 & +0 ¥4 0 # +0 4 —
M 0| +0 A 0OA| =0A| —
= | P 2| 1 & 4B 1 & 330%
% | mew 2 A 1A A x| 1 A| 33 3%
2 | PR B 2 E| 52&|] SE&| 20%
T W mam| 38 A| 3N 17T A| 4 A| -2 2%
2 HEIASEREYR

ORF6E
B RH7E

FRA (RFERED S5 | 8RB | K& | EK| 24| Bt | &3 | mEE|) WAL | ey | S| Al | bR | FEvkee| AETE | 0E | BRI | g ||| st
AB=#k | 156]10] 5 |11 2 | 2 |13 13| 65 ] 8 | 5 ]18] 7] 7 ]18] 3] 9 | 8 | 6 | 6
=70 -] 0 [o|] o] o0/ 0|00/ o0/o0|o0o/o0o/o0/0]J0o]o0o]0]0]0]oO
7% = 4 o]/ 200|000l o0o/0|0]|]o0|]o0|l0|1]|]1]/]0/0|0]0]oO
g5 15210 3 | 11| 2 | 2 [13/13]| 5 | 8 | 5 18] 7 | 6 |17/ 31918 6 | 6
o] ANSE& [ 1652 6| 7 [10] 2 | 2 [1656]14] 9 [ 1110 14] 2 ] 6 |13] 2 | 4 [ 10| 8 | 7
6% [e=] 0o o/ ool ololololo/olololololololololo]o
ABBBUERE | 4 | +4] 2] +1 ] £0] +0] 2| -1 | 4] 3] 5] +4 | +5 | +1 | +5 | +1 | 5| 2] —2 ] -1
3 HEENAH 4 FEFEFENA
5 | BER | TWE |eaemas) TOM | B (wzatg"?) (155;) (25:53) (sfaﬁua) &t
REE | % | 4 | 5 | % 181 NBER | 13 % 119 2 181
RE| 0 0 0 0 0 % 0 0 0 0 0
ERE| | 1 2 0 4 EE| 1 0 3 0 4
BRE| D 8 13 % 1l gagl 1 2 116 % 7
fiEL | 40 ] 5 ] 46 | -6 |+ [ 3 figt | 4 18 13 X 3
BagE | 700 | 9.3 | 66.7% | 514 | — | -1.6% EEE | 0.0 | 50.0% | 9.8% | -3.8% | -1.6%
5 HHMBAFAAK
18 i cp Bz HE |[#z5 @@ EE Hiyh Z Dtk &%
ASERK 12 59 45 29 2 2 32 181
% = 0 0 0 0 0 0 0 0
E 5 0 0 2 0 0 1 1 4
2 5 12 59 43 29 2 1 31 1717
AT LE +4 -15 -2 +4 +2 +1 +3 -3
EE| 50.0% -20.3% [ -4.3% 16. 0% — 100.0% | 10. 3% -1. 6%
6 ARRADZED - SERENREGEER
[CELDLUEFANEEEE] [ERE O NEEREEER]
o565 OSF164
B EMIE S5
&t H178 BiEE |ERERES &5t H7E BEE |APERSE%
ST E 13 2 9 2 SH0 7 25 9 10 6
6 HE 10 4 6 0 SH 6 F 26 4 13 9
R +3 -2 +3 +2 # m 1 +5 -3 -3




